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INSTRUCTIONS (98#%5we2)

= Please check the Test Booklet and ensure that it contains all the questions. If you find any defect
in the Test Booklet or Answer Sheet, please get it replaced immediately.
[5%) HSE0S® o) [DHer WwBoHGES BF WrhEILTD. (D) H|SIS® e, Srerd
HES md B SEEwE) S o Frivind® FTEEA Bobd BHEWETD.

2. The Test Booklet contains 150 questions. Each question carries 1 mark.

5% HSEwS® 150 BH o). w878 HHDH 1 Hrdy B onoidGs.

3. The Question Paper is set in English and translated into Telugu language. The English version
will be considered as the authentic version for valuation purpose.
(D65 (S0 aofiind® Sofrsdobud Bonth RS 8 &G SOHBIB. Dired HEDw Tresrg
DodwdDd 0NN (DHD(EDw (FrdrredSdone SE HBN.

4. The Test Booklet is printed in four (4) Series, viz. |__IS| The Series, or or or

[D] is printed on the right-hand corner of the cover page of the Test Booklet. Mark your Test
Booklet Series ororor@in Part C on side 1 of the Answer Sheet by darkening the
appropriate circle with Blue/Black Ball ppint pen.
B, HSEn ey SPEwed® (Series) wdn D] $gimos® nBosndds. &
s8swo [A] md [B] moi[cl md [D] md @4 S8t gy 6% DE HATH drod’
S0|B0BBIB. WENH (D) HSkn wE) HFE0 (Series) md [B] md [C] o= [D] md
Bhrgrd DSty Bl 3 PG C bodh ©obHEhhn Beronoswdd H)End wiwrs wrd
Fowods “e'.:fa:;_é‘ SO B8 JOJIB.

Example to fill up the Booklet Series
If your Test Booklet Series is A, please fill as shown below :

@ ® ©0©

If you have not marked the Test Booklet Series at Part C of side 1 of the Answer
Sheet or marked in a way that it lcads to discrepancy in determining the exact
Test Booklet Series, then, in all such cases, your Answer Sheet will be invalidated
without any further notice. No correspondence will be entertained in the matter.

& ($%) SSSv oy SgEws  (Series) SSrgs SSSw afws IHS &6 C *
000SEFonT B QoS SISn ($F)HS S8 w)SSom BOBIEBob & DTeSS00E0
a8 Snonr &) edudodd o) .:Soédaa.’wa:eﬁ'ﬁ, 5 HwSodd % b FobHomd
SSrges SSSw $68O0SwES (invalidated). S0 K800 DévSods &ef SjSSp ddwen
2520888,
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(2) , AS/:

Each question is followed by 4 answer choices. Of these, you have to select one correct answer :
mark it on the Answer Sheet by darkening the appropriate circle for the question. If more tl
onc circle is darkened, the answer will not be valued at all. Use Blue/Black Ball point pen to m:
heavy black marks to fill the circle completely. Make no other stray marks. Use of whitene:
prohibited. If used the answer sheet is liable for invalidation.

(B8 [DHH Trendd Shrerdhnen 2B, @odHS® BBAHH 2aren DN 8" Db H|n
(3% Seromotdsd DB Jone HY JobHBH. ¥ TAET™) NS Hydiwedd JodD
& Direrdiw H83Dodat.. DYELod Jrom Som 58 o)L w/erE e Afonod
TEVTD. WIHHEY Hhen DTS, IEGE srde QRBOWBEX. T AHET Ddrard B
Eﬁmersoéé) Do,

e.g. : If the answer for Question No. 1 is Answer choice (2), it should be marked as follows :
ST® ; (%) O30y (Edopg 1 8 zaraw (2) YORIDYPE oA S (808 DSEwT HDBOTHBD

110]/0|®|®

Mark Paper Code and Roll No. as given in the Hall Ticket with Blue/Black Ball point pen
darkening appropriate circles in Part A of side 1 of the Answer Sheet. Incorrect/not encoding v
lead to invalidation of your Answer Sheet.

FS GBES afgwdd & DY ¥y 6 Houdi ook D 5 boudh bErgs H|E
OInE) 280D PO F§ A Soh w/erE 2rd owod DENE HBWS Hdwes® Som &
HRoUHTR. wdoadinmr Svor BE ASYAoh BoHEDovar Sdreed DS S62D0SEL.

Example : If the Paper Code is 02_'7, and Roll No. is 95640376 fill as shown below :
Gsde @ DHE §°& 027 805 5°S I0. 95640376 ©owdS (B0 Srdd D5 JoRydw ¢

Paper Code Roll No.

0%6.8%8 &°S 3o.

ol 2|7 9| 5|6 |4|0|3]|]7166
® ©0 ONONONON NONONO)
ONONO, DOOOOO®O®®
ON N6 Q00000000
® @06 ONONONONON NONO
@ @® @ ONONON NONONONO
® ® 6 ON NGEGCNOGNONGNO)
® ® ® ONON NONOCNGNGON )
ONON | ONONONONONON NO)
@Eee®E®EO®E®® ®
® @O L BOXOROROXOROXO)

Please get the signature of the Invigilator affixed in the space provided in the Answer Sheet, A
Answer Sheet without the signature of the Invigilator is liable for invalidation.

DErES H|SES® B onoDd ROwS® HEGBLHA (Invigilator) GIny HodEhnd D 08HBK
DG HBEBELD DoBKLn Bhrerd H|SEwS® BEFowdS w8 H0EDodwBS.
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9.

10.

The candidate should not do rough work or write any irrelevant matter in the Answer Sheet.
Doing so will lead to invalidation.

oyfgd ‘DEBY (Rough Work) D ) HEBT oSHdlR) DROHINOR MO Bhreed DS
ok, ©b [@ids Shraus H|Sh H0RYoIH e GodtrIs omd S aHsoy.

Do not mark answer choices on the Test Booklet. Violation of this will be viewed seriously.

Lireebinod [Hiyd|SkeP HiesTds. BID w8 EDodSE SHom HOHBOBE.

Before leaving the examination hall, the candidate should hand over the original OMR Angiver
Sheet (top sheet) to the Invigilator and carry the bottom sheet (duplicate) for his/her record, failing
which disciplinary action will be taken.

568 HSh $8O BFonds, ofgd &9 Sérerd H|Stw 20BISY (PHd) D) &8 & &)
éég?séﬁoﬁ)‘é (Invigilator) &<y, 5% (duplicate) Sdrerd H SN (oo é@ié&)) SHE SDED
BF DLW 2,0225S DHrEed H|Eaw SRER QKT (EDBEm WOY S E ot
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1‘

If COLLEGE is coded as AMJJCEC, then [1.

the code for UNIVERSITY is

(1) VOJWFSTJUZ
(2) TMHUDQRHSX
(3) SLGTCPQGRW
(49 WPKXGTUKVA

If TABLE is coded as WDEOH, then the |2.

code for BOARD is

(1) CPBSE

(2) ERDUG
(3) ERFUH
(4) ESDVG

If FAT is indicated by 6 + 1 + 20, then the (8.

indicator for LEAN s

(1) 12+5+1+ 14
(2) 11+4+1+13
(3) 10+6+2+ 14
4) 12+44+1+13

Find the odd one out from the following,
(1) Chess

(2) Carrom

(3) Table tennis

(4)  Hockey

In the following, which one is different
from the other three ?

(1) ACE

(2) BDE

(3) CEG

(4)  DFH

In the following, which one is different
from the other three ?

(1) AOIU

(2) AUEI

(3) EUOI

(4) AUYO

www.eenadu]?g?tibha.net

[4
COLLEGE &) &6 AMJJCEC swowds
UNIVERSITY G3n¥) &°6

(1) VOJWFSTJUZ

(2) TMHUDQRHSX

(3) SLGTCPQGRW

(4)  WPKXGTUKVA

TABLE cin%) &6 WDEOH wownds,
BOARD oin¥) 56

(1) CPBSE

(2) ~ERDUG

(3) ERFUH

(4) ESDVG

FAT &6 +1+20 3 BrOoWUS S, LEANS
fa%s) @780 BrDeSHS Y

(1) 12+5+ 1+ 14

(2) 11 4 41 + 13

(3) 10+6+2+ 14

(4) /12 +4 + 1 + 13

S (808 IS DB DoZeds @
R 0d0

(1) am‘)

(2)  svg8dwy

(3) Hens B8NS

(4) &%*&

S (808 ST DO oL @D
EHFH 7

(1) ACE

(2) BDE

(3) CEG

(4) DFH

G (808 IS DB oSS o0
EDFDd ?

(1) AOIU

(2) AUEI

(3) EUOI

(4) AUYO
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10.

11.
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If 2, 5, x, 17, 26 follow a certain rule,

then x =

(1 9

(2) 10
(3) 11
(4) 12

Find the next number in the series
3, 12, 48, 192, ....

412

514

768

1110

(1)
(2)
(3)
(4)

¥ 1+2=5 2+3=13, 3 +4=25

in a language, then 4 + 5 =
(1) 31
(2) 41
(3) 51
(4) 59

If 57 =40, 4 x.6 = 28, 6 =
in a language, then 9 * 4 =

3 =24

1) 35
(2) 40
(3) 45
(4) 50

If a*bzaz—ab+b2 and

aAbz%, then (1 A 2) % (3 A 4)=

(1) 30
(2) 31
(3) 40
(4) 41

5)

L

10.

11.

9, 5, x, 17, 26 oI 28 JoHrd)

DBoVST, x =
(1) 9
(2) 10
(3 11

4) 12

& (R3S’ Sovgd Bowgo EDA W
3,12, 48, 192, ....

412

514

768

1110

(1)
(2)
(3)
(4)

28 erhs® 142=5 2+3=13, 3+4=25
oy, 44 5 =

(1 31

(2) 41

(3) 51

(4) 59

2.8 erhS® 57 =40, 4%6=28 6+3=24

wowds, 9+ 4 =
(1) 356
(2) 40
(3) 45
(4) b0

axbh I= a’ — ab + b2 éaﬁcﬁn

ab

aAEJ:?, wondS (1A2)*(B3A4)=

(1) 30
(2) 3L
(3) 40
(4) 41
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AS/401 (6) [
12, A sits facing towards East. If A turns 270° (12. A eJzcd S8y dwporm Erdnoed,
towards right and then 180° towards left, HAIDH 270° &0h écr’sé 18¢
then the direction A faces now is AEDIHH BOASS, adypd A K Hodr
(1) East G B8y
(2) West 1) &8y
(3) North ' (2) DS
(4) South (3) & SS5
(4) &58easw
13. Find the value of x in the diagram given
below : '
13. & (80D DLHENST ¥ Dendd EHFEY
8 2
8 2
6 32 4
84 x 6 32 4
7 10 3 84 X
3
i 5 7 10
1 5
(1) 24
(1) 24
(2) 25
(2) 25
(3) 30 ) @) 30
(4) 35 4) 35
14. The next term in the series _ 14. &8 (R3S Sogd DS
ABZY, CDXW, EFVU, .... : ABZY, CDXW, EFVU, ....
iS I
(1) GHTS (1) GHTS
(2) GHST ' (2) GHST
(4) FGTS (4) FGTS
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15. The odd figure out of the following is 15. & (808 ST DHYID Dok

(3) (3)

@ k @ &
16. The odd one out of the following is 16. & (808 & DD

(1) T l (1) T l
» [111 w (111

o [ITpk o (11)

N IE e

17. The next number in the series 17. & E‘aieﬂcS’s?s) éo’vsé Hedww
1, 3, 6,10, 15, .... _ 1, 8, 6, 10, 15, ....
is ’ 1 19
(1) 19 : @ 21
(2) 21
(3) 23
3) 23

@ 25 4) 25
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i8. Find " in the following : 18. & (808 oS P D KD ¢

Lol |11 1o |76

(1) /M ® M
2 U @ UV
@ € @ €
@ @
19. If C is the mother of A, D is the husband [19. A c’?méer 89 CyC Cﬁ:oézr 8 D, F
of C, E is the wife of F, I is the brother a_:ﬂ’dg E, C o8 FHhd F €5 00
of C, then I is the ___of A. ; oMW F e,
(1) paternal uncle (1) DSy B8 dlavdy
(2) maternal uncle 2) DHddrd
(3) brother 3) TS
(4) sister
(4) %56
20. A wall clock shows the time 9.00. If it is (g, a.-g & XeovrSin scodnd
placed on the ground such that its gnngoﬁ;;\&,la_ B dware Dwen B8
minute-hand is towards south then the YrRod dSom 2y Y ESS,
direction of its hour-hand is Aven Ardos &‘Eb?r ;
(1) East . (1) é\;‘n&g
(3) South S R
(4) " North © 3

(@) &&Shw

21. What day is 26" if 3" of the month is

Wednesday ? 21, 2% 5&3&‘5‘93 35 O%dn WP ERET
(1) Sunday BID ?

(2) Tuesday (1) s

(3) Thursday (2) DoHFarddn

) Friday 3)  Sodsathw

@) ohEarSiw
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22,

23.

24.

25.

26.

www.eenadupratibha.net

If 15 February of a non-leap year falls on
Thursday, then what day will be the 1% of
April of the same year ?

(1) Sunday
(2) Monday
(3) Tuesday

(4) Saturday

If a = b stands for {az K% b)z + 1, then
1#(1+*32) =

(1) 12

(2) 122

(3) 2121

(4) 1212

If we denote (ab — 1)> + b by a A b, then
(1A2 A0 A2 =

(1 32

(2) 64

(3) 67

(4) 70

A is four times as old as.B, After 4 years,

the age of A will be three times as old as

B. The present age of B (in years) is

(1) 6
(2) 8
(3) 10
(4) 12

If x*= 0125, then x° =

(1) 03125
(2) 003125

(3) 0:003125
(4) 00003125

(9)

22.

23.

24.

25.

26.

O ‘éoéég-dmé"?\) D(20H0 1
rbdaa}“&@éﬁs, wd K)oéé{afﬁmcﬁﬂ b@m’)’l
2 O HR ?

(1) bz
(2) JFoaeTw
(3) DoNFarSw
(4) BJdo~8adw

a+b o3d (a2 + b)? + 1 wondS,
1 (1=*2)=

(1) 12

(2) 122

(3) 2121

(4) 1212

(ab - 124 b _daAb I ardodS,
(1A2)A (A2 =

(1)%,.32

(2) 64

(3) 67

(4) 70

B 508 A dreoid S o, 4 éoéé‘bmo
gom¢éh, B 508 A dworch Téw 'b{éwﬂdﬁa. (20
B 63w Hodhiny (doddysiwed®)

(1) 6
(2) 8
(3) 10
(4) 12

X0 = 0125 sonds, x° =
(1) 03125

(2) 003125

(3) 0:003125

(4) 0-0003125
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27.

28,

29.

30.

www.eenadupratibha.net

C is taller than A and D, and shorter
than B and E. A is taller than D. E is

the tallest person. Who is in the 4B

position heightwise ?
(1 A

(2) B
3y C
(4) D

Five persons A, B, C, D and E sit on a
bench such that A and C are together but
C is left to A, E sits first, D is right of E
but left to C, and B is the last one. Who
is the middle one on that bench ?
(1) A
(2) B
3 C
4) D
Find the next term in the series

50, 33-;-, 25, 20, ...

2
1) 16—
(1) 3

Find the odd one out from the following :

(1) Yellow

(2) Black
(3) Blue
(4) Red

(10).

27.

29.

30.

C o3 avd A 280 D © £08 PAEJdarch
200Xy B Hbo E o ¥0B Q‘éfa“é.) A o3
% D 0B EJdard. “so86S E
odgod D UIdarch. 53365@6* 45 b
Q0da ?

(1) A
(2) B
3) C
4 D
¥ Imgﬁ:‘:‘g&’) ohHd HgHen A, B, C, D
D00 E o5 Erdiyom . 206t A $bok C
w 28808 20 A 8 C DS, B Swode
§r6"a§n§n D odach E & Ha3H =0 C

§ NI, B B wIard w98 ook,
@ 20O DHESLST JHS ErdyT S ?

(1) A
(2)
(3)
(4)

O a o«

& (@B S0 Hesdn D6 7

50, 33%, 25, 20, ...

2
1 =
(1) 163

' 1

2) 16—

(2) -
(3) 16
4) 15

S (808 &S DHRIES ?
(1) Siodydesy

(2) dood

(3) Rdodw

4 s
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31. If a*b=a+ab+b-1, then 2%*3=[31l. as*b=a+ab+b-1 wonvdF, 23 =
(1) 6 (1)
(2) 8 (2)
(3) 10 (3) 10
(4) 12 (4) 12

32.

33.

" 34,

35.

In a group of ants and spiders, there are
20 heads and 136 legs. How many ants
are there ?

(1) 8

(2) 10
(3) 12
(4) 14

5 years ago, my sister's age was 5 times
my age. Now it is 3 times only. What is
my sister's present age (in years) ?

(1) 30

(2) 25

(3) 20

(4) 15

In a leap year, January 26" is Saturday.
What day will be August 15 in the same
year ?

(1) Sunday
(2) Monday
(3) Thursday
(4) -~ Friday

In the year 2006, the Independence day is
Saturday. What day will be the Republic
day in the same year ? '

(1) Monday

(2) Tuesday

(3) Thursday

(4) Saturday

32.

33.

34.

35.

DO DB FOe HRrSEnst, 20 Soen
Hboko 136 s“}o@ G o, Ddoen V)
™) 0N ?

(1) 8

(2) 10

(3) 12

4) 14

5 K)o‘éé‘)mo ?’.g)‘cfsa’:», ENLIE Lals) éo:b"w‘)
o508 5 G adyd abd 3 T @
o D (BS Howny (dods)Biwes?)
oes 7

(1) 30
(25 25
(3) 20
(4) 15

2% OF) DodSBLNS, 2bH8 26 FaSiw.
ol BoHEYES® e 15 o &5hw ?

(1) edaSH»

(2) JDodiw
(3) Harddw
(4) HEorShw

2006 HoHSYEIS, Frgdodeg B EySdw
0 8hy.  ©d ‘K}ozbé’sgda‘méi Keasbo|e
O5HY o 8dw ?

(1) JHosaw
(2) DoAFaorditw
(3) HoSoa8w
(4) FdaeSdw
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36,

37.

38.

39.

40.
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(12)

In a wall clock, what is the angle between the
minute-hand and hour-hand at 5 o’clock ?

(1) 90°

(2) 120°

(3) 150°

(4) 165°

In a mirror, the image of a wall clock
shows the time as 9 hours 50 minutes.

What is the actual time shown in the
clock ?

(1) 2 hours 10 minutes
(2) 3 hours 10 minutes
(3) 4 hours 15 minutes
(4) 4 hours 20 minutes

Which one of the following plane figures is

not convex ?

(1)

(2)

(3)

> O D>

(4)

(999)% — 2% =
(1) 998007
(2) 995997
(3) 996997
(4) 997997

If fix) = x° — 2x° + 7, then f(2) is
1) 5 ‘

(2) 6
3 7
(4) 8

36.

37.

38'

39.

40.

[
28 5% KBAEENS', 5 Hobudyds Ddsire
by Kobe Bwefy Sogsg 5w o ?

(1) 90°

(2) 120°
(3) 150°
(4) 165°
oddnd® ¥ /8 K3ardiw O30
(BéDoadn 9 HKobow 50 Jdddwe

ArdodS o Heorrddn Do ebhex
S*®ORD Jots ?

(1) 2 Kode 10 dwHdwen
(2) 8 Hobe 10 JdwHDwew
(3) 4 Hobo 15 dhHHwen
(4) 4 Kode 20 JHven

g1 (808 &S° @ dodw Hogrstdiw
58 ?

(1)

Q=

(2)

(8)

(4)

(999)% — 2% =
(1) 998007
(2) 995997
(3) 996997
4) 997997

fix) = x° — 2x% + 7 wowdS, f(2) dend

(1)
(2)
(3)
(4)

o =3 oo W
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41, If (a+ 2% - (a — 2% = 40, then a =

(1) 3
(2 5

(3) 7
(4) 9

42. In A ABC, Z B = 90° and £ A = 45° If
the length of its hypotenuse is 8 units,
then the length of any other side (in
units) is
(1) 442
2 342
38) 942

]

4 1

43. I A ={a, b, c, d, e, fl, = {a, ¢, f, gl
and C = 'a, d: e} g$ h}l
then (A N C) U B =
(1) la, b,c, d,e, g
(2) fa,b,c e f gl
(3) la,b,d, e f gl
(4) {a,c, d,e,f gl

44. Five persons Ay, Ay, Ag, Ay and A, stand on
a line such that the distance between A,
and A, is 5 meters; A and A, is 10 meters;
A, and A, is 15 meters and A, and Ay is
20 meters Then the distance between A,
and A (in metere) is
(1) 456
(2) 35
(3) 20
(4) 15

45.  [0.49%0-36x0.25 =

(1) 07

(2) 011
(3) 019
(4) 021

www.eena{dg;aratibha.net

(a+2)?‘~(a—2)2=
(1) 3

(2)
(3)
(4)

@0 =3 o

A ABC &°, / B = 90° f000¥» £ A = 45°. &
LgEn DBD (TdP) 8 o%rdw sond,
.aa::: 2SY hHedn ABD (D ED) (cmv:omrs‘)

(1) 4.2

(2) 3.2
(3) 9.2
4) 1

A = la, b, ¢ d, e fl, = la, ¢, f, gl
ot C = la, d, e, g hl ©owd,
(ANCUB-=

(1) (a, b, d,e, gl
(2). la; by, e, 1, gl
(3 a, b, d, e f gl
(4) f{a,c, d,e,f gl

Ay, Ay Ay A, W00 Ag ©F 2SHE
HgHoen 8 ‘o’bda.oeS's A, }5:601’» A, © 3¢
obaAé:Goﬁ;AuéaszlOﬁ: Aq
SoBokn A, © Hogig 15 ab.; Dby Ay &ndoko
A, © a“:Jc.S,S 20 av. r:’méﬁiﬁ» éxo'ddoﬁnm
VS HTY G 8. wdPd A, DB A ©
oSy B (DOYS')

(1) 45

(2) 35

(3) 20

(4) 15

J049x0-36x0:25 =
(1 07

(2) 0-11

(3) 019

(4) 021
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46.

47.

48.

49,

50.

“fx) = xt - X _ 2i3m N 1, then the

The sum of four consecutive natural |46,

numbers is 66. Fir__ld the smallest number
among them.

(1) . 14
(2) 15
(3) 186
4) 17

15 is 60% of what number ?

() 20
(2) 25
(3) 30
(4) 35

The breadth of a rectangle is three-fourths
of its length. If the perimeter is 98 meters,
find the breadth of the rectangle (in
meters).
(1) 28
(2) 26
(3) 24
4) 21

If f:RS R is a function defined by

value of fi—1) isg
(1) 4

(2 -4

(3) =38

) 3

The perimeter of g4 rectangular field is
16 units. Its length is 5 units. Find itg |
area (in square units).
(1) 12
(2) 14
3) 15
(4) 25

47.

48.

49.

50.

TPl SEBrr Q) Ddre zéongc: S b
DS W) Doweky Kby

(1) 14
(2) 15
(3) 16
(4) 17

15 Q oSS’ 60% wirn ?

(1) 20
(2) 25
(3) 30
(4) 35

¥ 5gﬁé:-6@é» Gin¥y ey e

FEHE “ov  fwrds  bodows.
DEFOS 98 Dwgsss, BYBS

GE) Seny (ﬁgbgﬁ?)
(1) 28
(2) 26
(3) 24
4) 21

PR >R o3 $Hon o] ERTN
I‘(x}=x4—x3—2x2+3x~1eaon;6{
f-1) Dewd

1 4

(2) -4

3 -3

4) 3

28 8 IHE D50 EGES DS od 1
CLrdd. B dEL 5 oXrddn. B
Doy (IS8 QL S®) EHrddw
(1) 12

2) 14

(3) 15

(4) 25



i

E

AS/401

51.

52.

53.

55.

The average marks of six subjects is 78, out
of which the total of 3 language subjects is
210. Then the average of the other 3 subjects
is

(1) 78
(2) 80
(3) 84
(4) 86

The alarm is set between 1 a.m. and 1 p.m.
But I woke up one hour late. At what time
did I wake up ?

(1) 8 am.
(2) 17am.
(3) 6 am.
(4) 5 am.

If A=1a b, c, d, B=1b, d, e fl and
C = (¢, d, f, g hl, then the number of
elements in A U B U C is

(1) 8
(2)
(3)
(4)

= oo =3

Mahesh is 15 years 6 months old, while
Rajesh is 14 years old. What 1s the ratio
of their ages ?

(1) 27:28

(2) 27:26

(3) 31:28

(4) 31:41

What is the speed (in km/hour) of a car if
it covers 200 km in 2% hours ?

(1) 80
(2) 65
(3) 60
(4) 556

www.eenadupratibha.net

s DhoXred’ drdye Hovdd 78, D3
3 gy Dhalro Twdin 210, edyd
ADS 3 Dhore Dovdd

(1 178

(2) 80

(3) 84

(4) 86

1 am. 6o 1 p.m. ﬁ)t;_ﬁge')“s wer o
B Y J a8 Hod wodgorr
SOk, o BOS scodw dod 7

(1) 8 am.
(2) 7 am.
(3) 6 am.
(4) 5 a.m.

A=lab,c d,B=lbde N »ook
C=lc d f g h wodS, AUBULC
DrosTe DOBG

(1) 8

2.7
(3) 5
4) 4

Lird wdaed 15 Soddyore 6 S Do
Koaed Lok ooEa 14 K:oééaow HoHY
Koard. D0 Hohine I8 dod ?

[

(1) 27:28
(2) 27:26
(3) 31:28
(4) 31:41

28 58 200 8.5, Srdiw z% Kobed®
BofrdoDs, R owE 3w
(8../50.08%) Jos ?

(1) 80
(2) 65

- (3) 60

(4) b5
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57.

58.

59.

60.
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The ratio of two numbers is 3 : 4. If the
greater number ig 48, what is the other
number ?

(1) 24

(2) 36

(3) 40

(4) 44

The cost of 18 liters of oil is T 864. How
many liters of oil can be brought for ¥ 1200 ?

(1) 14
(2) 15
(3) 20
(4) 25

A train travels at a speed of 60 km/hour, How
long will it take to travel 2000 meters 2

(1) 1 minute

(2) 1 -;— minutes

(3) 2 minutes

(4) 2-% minutes

If a certain number is doubled and 4 s
added to the result, the sum is 44, TFind
the number,

(1) 10

(2) 15

(3) 20

(4) 25

If two. consecutive eéven numbers are such
that 7 times the first exceeds five times
the second by 54, then find the smallest
one.

(1) 32

(2) 34

(3) 38

(4) 40

(16)
56.

57.

58.

59.

60.

Coch éospgo B 3 : 4, g &’:o;ps 48
VoSS, AS Dopg Joe ?

(1) 24

(2) 36

(3) 40

(4) 44

18 8. &8 &8 7 864 7 1200 ©% )
&g drm 8708 y%0 7

(1) 14

(2) 15

(3) 20

(4) 25

8 S 60 3.0 M0 Sifsns® (Hovreto s,

2000 OB (BarrHoHnd ©b  Jos
5POH00 B DS 7

(1) 1 Dnidw
(2) 1% DDidwen
3) 2 dDddwen
(4) 2% Ddwen

w8 Dowgy Bododen T srens Sodm
éi'JQFS SwEkn 44, © K)O&lasr'fn S ik

(1 10
@ 15

@) 20 :
4) 25 !

A

Got H&Hde ¥o 38 QDoPLOS®, InEsoeD

T 3% ($0%0) Todterd 5 38 (o)

£0B 54 &y S ER S8 Sopg & ?
(1) 32 '

(2) 34

(3) 38

(4) 40

e T
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AS/401 (17) - .

Directions : Read the following passages and :Oﬁ'ﬁme» 2 BB adeadS é@z‘:i)dﬁ'é.vc:@ FES0d.
answer the questions given below them, selecting |es a’yai)‘;)c‘c; (§od§ aéjwcﬁé Dﬁ'c:c_)&’wca od
the correct answer from among the alternatives (SHoH BOCHS e i) 570, oo Bopgd
given. Mark your answer as (1), (2), (3) or (4) in (1), (2), (3) Tor (4) Q Sdraed SSdndoch

your answer sheet. 080508.
PASSAGE (Q. 61 -70)
% ;563‘)::5;5» (B 61 - 70)

Ants talk — not with words but with tastes

and smells ! Their vocabulary is_ made up of a
mixture of substances they produce in various
parts of their bodies and emit via their glands.
The substances, known as ‘pheromones’, are
signals that other ants can smell and taste.
The messages they communicate set off a
specific kind of behaviour : fetching food for
instance or looking after the food or feeding
the queen. Ants use a hundred different
scents to communicate a hundred different
messages. With such a sophisticated array of
messenger fragrances, ants organize
complicated tasks with  close-to-perfect
efficiency.

When you see a ‘handful of ants scurrying |

around in the kitchen without any apparent
purpose, it doesn’t mean they’ve lost their
bearings. They're scouts foraging for food.
Once they've found something edible, they
report back to base, depositing their chemical
spores on the way. “Food located, please
collect,” is the taste and smell message for the
other members back at the nest. Soon, long
chains of worker-ants begin séun'ying back
and forth from their nest ferrying food which
‘they hand over to ants who specialize in
housekeeping. The duties of these ants
include keeping the nest in good order and

cleaning and feeding the queen.

Htyen dorod s st Hhen HdoX
Trodest drerdd | a8 3680550 VS

rrodt ed 6838 Jok dorgre Q| Fva

o8 HSereodn oo 8D o8 (fode
argoe  2oHBE DO, & Ddargren
SR ©d woit Hbok ad b
Hho% obd ook Erhess Howododn
Bodereddyl. o ErEnsH Sdrooo
wSts  Shrordedty wmN B oS8
Dogod®md B8 o~ds vHdo wofoSBos®
seR ¥ Lééfgé BERD L?’.?a’bg&&
CORaoRkd: ODdber o¥  Hod DD
AEHSes  Hod G PRrordiwoD
BoonEod. ¥ P8 Sdrooo
e ifEnod Hrd av‘énggénm DR 0.

SobKes® §I) Dben J s*8mo Bow
HORG DB DD oD, a°¢38 s~ B0
SELE LRSS, 0D BHFE wIghns® G
Brgorden &3 eS80 52&)5‘?51&;)3&3,
o8 FHoeds 8doHFEoHEs [FES” §Q)
Eropore  HEon  Shod. “wibo
50850, SoHdd DEBoIW’ ©I B
Lboy 00 JHrTord) g‘édoé'sb DAE®
Hbeod sodDand. BodI BV DE
S HDY oo BEEH b
odford)  FHomIE 88Dy  FHBos’

 gHFEENS JegTD HhredH sodIoud. &

Degdd Diven s&Fo) DegHotd Lok
oeedDBd H(dw Sondod® Loy estdo
©0B03SH0S" Edndit 8 SEHehn (g &S).
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AS/401 (18) : ' [A
61.  What is the passage about ? 61. & HoTnSdw B Kdod adeadne ?
. (1) Behaviour of ants ' (1) Ddo (OSED

(2) Ants intelligence 2 SLe 2O vew

(3) Ants communication

(3) VDO Idroed 5r0B
(4) Ants talk :

(4) Do doerde

62. What is the vocabulary of ants made up of ? 62. DHe BSeredy I DSom Iovwdds 7

(1) A mixture of substances they produce in 1) =8 46808 DS ermeost 838

various parts of their bodies Sofs Baeome &Lé:wm
(2) Ants learn to talk 4 :

(3)  With work () Dbven Srer i SEy &
(4) Eating food I (38) H&°
(4) oHFShn &b

63. A mixture of substances ants produce in .
63. ¢ F0806°0 JVE 2rrroen a8 IS

a'amgvt) SRR

various parts of their bodies is known as

(1) resources

(2) pheromones (1) dwreren

(3) fragrances (2) &}_Ssazﬁéat»

(4) efficiencies (3) Doadden
(4) Q“Eﬁjg“gtn

64. How do ants receive signals from others ?

64. VDew asHe  Lod SoBerod iy
(1)  Smell and taste -

oo ?
(2) Talk (1) 58 dan. S
(3)  Understand ) (2) 'érg‘cécso
(4) Discussion (3) @go FoEd%0
(4) S8y

65. Which one of the following is correct ?
65. & (808 >s° DB BBRe 7
(1) Ddven 28 o5 bod A
G} Ants do mok ot QAP T EEO® HoHvE THE %
nis do nut use scents to communicate ”
a hundred different messages. 2) Doy Hods D Do ined
D0YOLE TIHO® 8D

(1) "Ants use a single scent to communicate
a hundred different messages,

(3) Ants use a hundred different scents to

communicate a hundred different (3) Ddvew Hod e wéﬁ)o;ﬁj_a’:od &S
messages. DdrrSined DONLE T
(4) Ants use mouth to communicate 2 (4) Ddvew Hods QS Do

hundred different messages. DoYPLY) B aHBrAoR
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66.

67.

68.

69.

70.

www.eenadupratibha.net

Which one of the following is not included
in the messages ants communicate that set
off a specific kind of behaviour ?

(1) Fetching food |

(2) Looking after the food

(3) Cooking food

(4) Feeding the queen

What is the benefit that ants get from using
messenger fragrances ?

(1) Nothing is useful

(2) Ants organize complicated tasks with
close-to-perfect efficiency

(3) Ants can work hard
(4) Ants can sleep well

What is the purpose of a handful of ants
scurrying around in the kitchen ?

(1) Foraging for food
(2) To build their nest
(3) To clean the house
(4) To play

What is the taste and smell message for the
other members when seouts have found
something edible ?

(1) Strangers are coming, go away
(2) Food Ilocated, please collect

(3) Danger ahead

(4) ~ Clean the nest

Which one of the following is not included
in the duties of worker-ants ?

(1) Keeping the nest in good order
(2) Cleaning

(3) Feeding the queen

(4) Searching for food

(19)

66.

67.

68.

69.

70.

_ @’3355
8o &S 26

Shrordined  S8OobFEofy ¥
Lﬁég’ﬁ:ﬁﬁbg " wodhw
361323&5 8 ?

(1) o558 DE8e

(2) eS8 Doddothd
(3) wSFEoLD Dodd

(4) o°Bd Fhothd

Lo Ddogrod  GHorfothe  @rgor
Diven ol erfdn b ?

(1) &HIrHDIO dab B&

(2) Ddoew §§11§JE€> SHed e é,soé
&hoodrdg 58S° Fdggos
Dds&u"oﬁaéa

(3) Wby E5Hd HATodROH

(4) Ddoew ‘erre JBoBHKOD

HoufBSt Yy Dby HORGOE stEnin
Dab?

(1) o8 ©3ghe

(2) o8 frdd SEISED

(3) =08 HFo DoHdiw

(4) odbdn

B BF oSChod ERDEEH)Hp®,
Srdorden (scouts), aS$HoH Dod HD
00 TS DErTrEEn D ?

(1) ([Fgard T8, 3@@@“&»&

(2) eSFShHn 0858, SoNdd VEBoIRW
(3) dwodh (Do &b

(4) Kol BHi¥aw Dobodw

& (808 ST B HVhe Apod®
E’Sﬁgz&(‘.’sﬁ& ?

(1) Moo Ddgor™ Goddam

(2) %o JoHiso

(3) o°ed8 wHt8o eododo

(4) oSS egholto
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PASSAGE (Q. 71 - 80)
After the accident, a car from the hospital
took Krishna to hospital. The two men carried
him to a bed and put him in it carefully. Soon
a nurse and a doctor came. The nurse wrote
his name and address in a book. The doctor
took the bandage off Krishna’s arm, looked at
it carefully and put his hands on it. He said,
“The arm is broken.” He said to the nurse,
“Give him some tea to drink.” Then he said to
Krishna, “Do not worry, we will do something
just now. You will be all right soon !” Krishna
was a little cheered up and said, “Thank you,
doctor.” The nurse gave him tea to drink and
covered him with a warm cloth. The doctor
gave him an injeétion to lessen his pain. He
tied some bandages and applied plaster.
Krishna's arm pained him a lot and he
requested the doctor to look at it. The $Hoctor
told the nurse to give another injection. After
this Krishna could sleep well. While Krishna
was in the hospital, many of his friends came
to see him. Whenever his father and mother
came to vigit him, they broﬁght some fruits,
milk ‘and books. There were several other

persons suffering from diseases in Krishna’s

- room. He was all right within a week and |

went home after goreeting his room-fellows.

(20)

« a’;aaacs:m (%) 71 - 80)
[Pty Sovgd, ¥ @Kné@ s B
GD(B8 SWTPYHD. agdr Libihges wEIR)
DoBhy HEH JosbI @"m&%@ a2 (KSm
DHTBYSEH. BobS a8 8y oo 28
ate beﬁgmda..a.é RDNE0S® wdd o
0oy Vwrdrdy Sy (@Hd0. (3% J88
Gy -'znﬂsoﬁﬁfa aEd &ORod, erfEm
H0300D), oIR8 T B, §Q§;qé§5 S
forr wamd. D Tow  OARFoRHE™
SENE “0dIS [EHedH Fam & abghn
CRESFAL éu@@ §)38° QD arg DK
Didw adyd @7 Ik I Sesst
Sfenflocsly o By 88 So8Hws’ &
deforr oI Lo ! % GIRgareSan”. S8y
0dd8 (oHerdd § agyb. Sogd Ia
SBNER K20, @ES 08 arg S o8
20BFEOD 2By 083 wrgodE 5 FHH
B0 )R Tow w8 wor FY Db
pdd D) NS oA Wrddn  ©
TES SHEID. odypd aEd SEy®
0828 20F¥ zoBLH aighd Thyd.
dorgd 5y oW JBIHORL. 5)a
52 BS* GO BPd, ©dd djdw oo
0B VSN Srdérdd DTN, wdd
$Qo(ther eDDHBE JAypd ST 5
Doh, Fren HBoK HIsTOMw 8. (83
ad) Hos® 335& Bros o0 AL
HgHen wror Dod srmd. @ in Gwre
Sho wdd wronTed Dok 85 KBS
e HeHoH %ngjs‘ogcﬁ Sonydr 2088
3@@63‘01)5“653.
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75.
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Why did Krishna go to the hospital ?

(1) To see the doctor
(2) Because of the accident
(3) Because he saw a car from the hospital

(4) Because he wanted to see his parents in
the hospital

How many men carried Krishna to a bed ?
(1) 4
(2) 3
3) 2
(4) 1

Who said “The arm is broken” ?

(1) Krishna
(2) Doctor

(3) Nurse

(4) Car driver

Then ‘he’ said to Krishna, “Do not worry,
....". Here ‘he’ refers to

(1) Doctor

(2) Nurse

(3) Ward boy
(4) Father

He said to the nurse, “Give him some tea
to drink.” Here ‘him’ refers to

(1) Doctor

(2) Nurse

(3) Ward boy
(4) Krishna

(21)

71.

72.

73.

74.

E)R wD(@8 s 3Py ?

(1) @EHd Srddd

(2)  (DdrSdn DO

(3) DB 5ehD Drddin DO

4) s/ BS® wdd SDSohod Wrdd

§8%
SUeIREVY DS ¥R QoS00
SEXBOYTS ?
(1) 4
(2) 3
(3) 2
(4) 1

“Tow DAIR” 0 S BT ?
(1) ég‘fg
(2) w’gcb

(3) :6633

(4) s @j‘.bd)

SRS g égé}é‘ & AP0 HID
“DaD SHBZEN evrinnnn P azﬁaeo ‘b’
008 OO 7

(1) &g

(2) JB

(3) a‘gb e oR
(4) &od

édaaé‘ odd & Ao eI,
“E @8 ©8d8 Fom & adwy” @y
‘WS ®oB D08 ?

(1) g

(2) JBy

(3) &8 arodh
(4) E)Q

(x]
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78.

79.

80,
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How many injections were taken by

Krishna to get a good sleep ?

(nH 1
(2 2
3 3
4) 4

Krishna was not alone in his room in the
hospital because with him

(1) were his father and mother
(2) were his friends
(3) were the doctor and the nurse

(4)  were several other persons suffering
from diseases

Who brought fruits, milk and books ?

(1) Krishna’s father and mother
(2)  Krishna’s brother

(3) Krishna's sister

(4) TFriends

Krishna came home from the hospital

(1) many days after a week
(2)  within 3 days
(3) within a week

(4) after improving

Whom did Krishna greet before leaving the
hospital ?

(1)  Other patients in his room

(2) Doctor and nurse

(3) Relatives

(4) Friends

(22)

76.

717.

78.

79.

80.

DOV JEIHEeE )R ) 0B
SonohE g ?

(1, 1

(2 2

(3) 3

(4) 4

R sHBST &5 oSt 23 B%

QOSEST WSS

(1) eéd éQc‘.ﬁo@bwa‘l&

(2) ©8 DJLéJUJH"ld)

(3) ¥ woak S8y damyd

4) X o T EDHEHY)  wor
od Hg LT &

Do, arew  Hdofw DRSO IS

S8 ?

(1) §D§_ O3 Sd&o|den

(2) 53@ cii)ﬁa_ DS Bk
(3) éaé cﬁ:oégy T8
(4) -'i)l&"é:m

)N eHB Hod xoss SOADY T
(1) &8 6w 26 oror Fare dovgd
(2) S Serods®

(3) 2.8 rddws®

(4) ?m?:’al Soree

sHE wod BUALCRT )R 08
Dgrsrown 8dd ?

(1) o8d K85’ her &%%en

2) @E8 Hboky S

(3) modﬁa@m

4) Hrdoon
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[A]

PASSAGE (Q. 81 -90)
As rains receded, I got a strange job. Our
| neighbour, a rich merchant decided to become
a politician. His major handicap was that he
was illiterate and he offered me the job of
accompanying him on trips into the interior
villages to read and write for him at wagés of
Z 600 a month. I made several trips with Lala
Munshiram, as he was called, to the outskirts
of the village, sleeping under trees, eating

stomach-full meals for once in my life.

In the village, I was astonished at the
ignorance and poverty of the children I met. I
looked
ignorance and poverty. At night, seated on a
bench, I would write down the points dictated
to me by Lala Munshiram and then read to

him so that they would be fixed in his brain.

learned and rich against their

Many labourers would come to listen to his

speeches, which promised them prosperity.

Our trips were tiresome. Travelling by bus,
bullock cart, rickshaw or on foot, we went
from house to house and ‘from willage to
village. I became a machine, recording names
and the

listening seemed to be endless. My job seemed

and addresses of his supporters,

to be monotonous — doing the same job, seeing
same people, houses and farms. To a huge
crowd, he would talk'like a sermon, spitting
on the floor to mark off his paragraphs,
clapping occasionally and thumping his feet to
his of which

captivated the simple villagers, who in return

punctuate sentences, all

shouted slogans promising him their support.

*, :

SoTBysEw (SHyeo 81 - 90)

Sgren S8 S0, T wE Do8d &55521;633
HDYB. D DE0NgE, 28  SDDoLd
or22 80T 0N 5PHBHN oo T .
OSDSTD  Somedd Sty o8d
Ddémmgdﬁo Sén [rared odd
(PoXre8oB e 0S8 S 3o,
&GS @:voa’:éo 20050 S$&HEEn SoHshw
DI T° &5‘5?1?.’335 J0¥ T 600 Sdw. oror
QoI (THReT devded odd8 I
S >0dDdes®  (outskirts) IS
Po¥reror Sdoed, By (ol JBowEw
LBk o ZAEHnS® dde S dens
ghNoae b EI5°AR.

(TRdws® S KOV doo GInE) lwerdin
00k DScdvety, b ©E)Eediokrd.
) 27w B oY ﬁdés&n&;&a B I
BOVHOTAY « wdo¥  EHHoHEY  ©
@é:é:a‘lm. o8 w8 wep HE&)I, oror
B0QUrsD > BLYS woTod (FE IO
W& ke’ gg“égﬁm G 0HEWOHE 8sd8
6D DWHoJarA. wrorvod Erdarodh
08  wahgdod (prosperity) ROV
Ay 8 yrimen Mads STy,

b (Pofrarey wror wodds  Eraddn
S0BD. Ddw ¥ 108 Hod k08’E xo3d
DBy 28 (rdvvod 2o8E (Ml
2y, Mwod, O0Fr B sONEE wrgor
ST IR0, wobd DESHEE D Hookh
Dardoren |TOES oo eonTR.
SBHHIs > cﬁnéa, ABoSEHVMT bR,
od (dmew, ok wbok Dorod
SrSRe o Q§5§3 WOND DA GOBVD.
od  HOToheiw, DY 2I0DrSFoL
DEHSHH Hrdd em(ovgaﬂé)d . Wo°
(), arEgiwe  Ddwarobaw) @ 0VDVFOND
émsé G H00WHOH  FrdD :fsi)ag'
SES 2.8 &) T2 & 5"&3&5‘&3
.:515150 Dméo:l‘:va‘o:&) c‘b@oiﬁméa Fe5ind
2 éé‘laﬁ“d: -aébl by (Do
aﬁgoﬁ'& A8 wdeon a8 o$d8
G ST dTrEren Foard.
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I returned home in March with a pocketful of
money that vanished into the bottomless pit of
needs of the household. My mother was proud,
Aunt
grandmother thought I performed a miracle

even Sarala  became friendly,

and my mischievous qualities had, by now
evaporated. But little did they know that Lala
Munshiram had lost the election, I had lost
my job and my status had reverted to the
earlier one of being a wayward boy.

What is the meaning of ‘recede’ ?

(1) Move forward
(2) Move back
(8) Receive

(4) Enter

Who decided to become a politician ?

(1) Beggar

(2) Doctor

(3) . A rich merchant
(4) Teacher

What is the handicap of the merchant ?

(1) Illiterate
(2) Educated
(3) Illness

(4) To do construction
What is the name of thé ‘rich merchant’ ?

(1) Sarala

(2) Author of the passage
(3) Vimal

(4) " Lala Munshiram

Who use to attend the lectures of Lala
Munshiram ?

(1) Labourers

(2) Educated

(3) Women

(4) - Children

(24)

81.

82.

83.

84.

85.

rd)St & Fedowr  dayos  xods
8ondmyd.  edyrdo B o zod
oHHTre HoSS’ B WrodHBVoSD. e
eaa’)a& o MBov oeer H8eone
DEPE WD, JYY¥ ol >& D&
Gotood, T oHdy I DE Hrah IE
02T 08 ooy S FoB Heren
adypd eIBJowTrow.  orer 3'330@0*53
MBS LAVonTE oI dhovhn 08

F800oHE oy o &5‘5&&5» Diowdd. ¥

g erendmr &0 GEy Brdg 2B
5&:&)&53}63.

‘recede’ @D &Dtgfn&) ?

(1) 2woh¥ 5«:;5@&5&»

(2) Sddo

(3) Srodio

(4) (H3BoBo

58 TrmSod oSG
:)go.noﬁaéaaac‘éa 7

(1) . DIy

(2) &g

(3) 28 FIHTJD argard

@) sdrgrgodudy

& Tgard S*HDay ?
(1) dEoidgs

(2) ogordgd

(3) @mﬁsﬁgém

(@) Qdosren Sapdo

EIHBS g0’ D D ?

(1) S
2) $6T3E8 ESowns
(3)

(4) oreor B’a»fgm&

rer 2o PTG WardE IO
SFyaedd ?

(1) &

(2) VSHYHBXFE

(3) Jge

(4) doew
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Who was astonished at the ignorance and
poverty of the children ?

(1) Sarala

(2) Author of the passage

(3) Vimal

(4) Lala Munshiram

What is the purpose of reading the points

that are noted on the paper which are

dictated by Lala Munshiram ?
(1) 1Itis a habit

(2) To get clarity in writing
(3)
(4)

Just for reading sake

The points would be fixed in the brain of
Lala Munshiram

Which one of the following transport
means is mot used on their trips from
village to village ?

(1) Bus

(2) Bullock cart

(3) Auto

(4) Rickshaw

How did the
monotonous ?

author's _job  become
(1
(2)
(3)
(4)

Recording names and addresses
Talking something to the villagers
Eating food

Through discussions with all

In which month did the author return

home ?

(1)
(2)
(3)
(4)

January
March

May
December

(26)
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Directions : The following questions (91 to 120)
contain four sentences which in their present
arrangement lack coherence, connection and
development. There is only one way of rearranging
them to make a coherent passage. Choose the correct
arrangement from the alternatives given and mark
your answer as (1), (2), (3) or (4) in the answer
sheet.

91. a. Suddenly I was startled by loud shouts

of “Fire! Fire!”

b. I was sleeping on the roof of my house
as it was summer.

c.  Luckily there was no loss of life.

d. After a tough struggle of about two
hours, the firemen were able to bring
the fire under control.

dcba
abed
badec
bcad

(1)
(2)
(3)
4)

92. a. The old man replied that he might not
eat the fruit of those but others would

eat.

b. The king asked the old man when he
would get fruits from those plants.

c. The king was pleased with the old man
and gave him a gold coin.

d. A king went on horse-back to the
countryside and saw an old man digging
the earth and planting mango saplings
in the field.

(1) dbac
(2)

« (3)

adch
dach

(4) abed

(26)

-[A]
JGFSven : (808 (SHOST (91 - 120) 2EYH S
SAd arsyod  FOAALIE. o8 (S
(F50S” © Trs7post O XIS Ssdeabsy md
B5020F8w M Ds BB T eI 53560 2.8
a8 (SHiwe® DY Peh SrSd SdSgarsn Mo
550:5;)6&5»!7' @D, (808 Srdodd (Fhdwes®
BOGHEO oK) 8D, D Sdrerard) (1), (2), (3) To
(4) & S&raeS Seros® H80508.

91. a ‘“dobdbw ! Dobew " eI A
wEHos I ¥l adE,

PuTe FoploV O
b. IJVsrodw Sorer S &

R0EDEDPDS D B0,
. 8 EETE I (e 2615,
d. 3Sok Hobo h’g Jorbo éo‘sé,

Gﬁlﬁﬁa’miﬁ Sroaed) Hobod
QaHoBodHdML.

dcba
abced
badc
bcad ¢-

(1)
(2)
(3)
(4)

92. a. o8 Joren JH SITH 50 asdHw

888 © 2O W DIV ).

b. ©dd8 © IJILDod Hodwew Dy
DD e o v WdOFA
AR,

c. Jwd0>AS orer oror HOSNOD 2
20 BN ;L0 od.

d. &adHaoded S0 3#006026‘1 ¥

vz Podwd® ) (SHRde

Qrdd  BnH oD Tl ¥

ADOTEY S,

d%ac

adch

dach

abced

(1)
(2)
(3)
(4)
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(1)
(2)
(3)
(4)

(1)
(2)
(3)
(4)

(1)
(2)
(3)
(4)
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(27)

My hobby gives me immense pleasure
and I am able to make the best use of
my leisure time.

A hobby is something that a person
likes to do in spare time.

My hobby is planting flower-plants in
my house-garden.

These plants include rose, lily, jasmine,
dahlia and sunflower plants.

abced
bcda
dabe
dbca

This job is done mostly by women.

It is interesting to see tea-leaves being
plucked.

Our best tea-gardens are there in the
Kangra Valley, Dehradun and Assam.

Tea is
hill-slopes.

abced
bcda
adchb
dcba

grown in tea-gardens on

A frog is a small animal that has
bulging eyes and long back legs.

The strong hind legs enable the frogs to
leap further than the length of its body.

Frogs are classified as amphibians.

Most amphibians spend part of their
lives as a water animal and part as a
land animal.

abcd
bcda
badc
cabd

a.

(1)
(2)
(3)
(4)

(1)
(2)
(3)
(4)

(1)
(2)
3).
(4)
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abed

bcda
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abced

becda

adchb

dcba
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b.-

(1)
(2)
(3)

(4)

(1)
(2)
3)
(4)
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(28)

The day was hot.

But in the end all reached the homes
safely.

The picnic party reached the lake by
11.00 a.m.

All went well till we heard Ashok shout
for his life.

acdb
dbac
cadb

abced

Not much is known about Newton’s life
at Cambridge in the early years of
professorship.

He experimented with many techniques
for grinding lenses (using tools he made
himself) and in about 1670 built the
first reflecting telescope.

But it is certain that the construction of
telescopes and optics were among his
main interests.

The simplicity of his prismatic analysis
of sunlight has always marked this
early work as one of the timeless
classics of experimental science.

acbhd
abed
dach

bacd

97.

(D
(2)
(3)

(4)

(1)
(2)
(3)
(4)
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acdb
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acbd
abed
dach
bacd
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98. a.
b.
c.
d.
(1)
(3)
99. a.
b.
4
d.
(1)
(3)
100. a.
b.
c.
d.

(1)
(3)
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(29)

They arrived at Calcutta - about the
middle of the month of October.

They expressed their great and sincere
admiration for the devotion and faith of
the worshippers of the Goddess Durga.

At this time of the year, almost all the
Hindus in West Bengal are busy with
‘Durga Puja’.

A certain number of ladies and
gentlemen from the United States of
America came to India to \nmt. some
important places.

abed (2) cbad

acbhd (4) dach

Knowing the dangers of drug abuse, the
governments of many countries have
taken various steps to deal with the
problem.

This is the misuse of drugs — drugs
obtained illegally and taken for the
purpose of getting pleasure and thrills.

Today we hear a lot about drug abuse.

This practice can ruin a person’s life and
even lead to death.

abced (2) cbda
bdac (4) dabc
Besides nature, good human

relationship is totally free of cost.

Friendship, love, loyalty and concern do
not cost us money.

The love of a mother for her child, which
ensures the continuation of the human
race has no price.

It cannot be repaid in cash or kind.

abed (2) dbca

dach (4) cdba
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99.
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(3)

(1)
(3)

(1)
(3)
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dach
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102,

103,

b.

(1)

(3)

(1)
(3)

(1)

(3)
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(30)

No visitor to India ever misses it.

Among the many places of interest in
India which attract visitors from all
parts of the world, the Taj Mahal stands
first.

Taj was built by Shah Jahan in living
memory of his wife, Mumtaz Begum.

The tomb of Mumtaz and Shah Jahan
himself are inside the building.

abed (2) badec

bacd (4) dabc

Most of the sharks are not ferocious.

Sharks live in all the oceans of the
world.

On the other hand, there are a number
of sharks which have killed swimmers.

They are found mostly in subtropical |

and tropical waters.

cabd (2) dabe

abed (4) bdac

Snails like to sleep during cold and dry
weather.

They have no inside shell, only a soft
body and a big shell which they use as
a house.

Snails live on mountains, in deserts, in
forests and towns.

The French grow, boil and eat 250 million
of them every year.

abed (2) ebad

dcba (4) beda

101.

102,

103.

a.

(1)
(3)

(1)
(3)

(1)
(3)
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(1)

(3)

(1)

(3)

(1)
(2)
(3)
(4)
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I take lunch at around 1.00 p.m.

I return in the evening.
I go to school in the morning at 9.00 a.m.
My name is Anil.

dcab (2) abed

cdba (4) bdac

He explained the procedure of boiling
the egg and went away.

Thomas Alva Edison was a great
scientist. He had a cook.

By the time he returned, the scientist
was boiling the watch and looking at the
egg.

The cook had to go out for some time.

abcd (2) ecdab

bdac (4) dabec

When | entered his house, his sister
asked, “Why didn’t you attend the party
last night ?”.

I had a lot of work to do and went to the
party after the completion of the work. I
was a little late.

I was late by a day.

One of my friends invited me to his
birthday party.

abced
dbac
acdb
bacd

h

104.

105.

106.

(1)
(3)

(1)
(3)

(1)
(2)
(3)
(4)
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(1)
(3)

(1)
(3)

(1)
(3)
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(32)

uq( a.

Now he is studying in IIT, Bombay.

Jaswanth completed his Intermediate
course.

He got good rank in IIT -Entrance
Examination.

He wants to study Engineering
and so he wrote EAMCET/IIT-JEE

examinations.
abed (2)

(4)

bacd

dachb bdca

Its blood showed common qualities with
the blood of the malaria patients. Thus
it was confirmed.

Ronald Ross conducted a series of
experiments on the different kinds of
mosquitoes in order to find out the
traces of the parasite.

Physicians and  others  worked
continuously to find out the causes for
malaria.

Two years did not yield any results. At
last he found a species.

cbda (2) abced

dcab (4) bacd
But one day he happened to hear a
famous Professor of Mathematics

lecture at the University.

He got interested in the study of
Mathematics.

Young Galileo wanted to study medicine
and become a doctor.

So he took up the study of Mathematics
and Physics in the University.

abcd (2) cabd

bade (4) dcba

108,

109.

b.

(1)
(3)

(1)
(3)

(1)
(3)
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(2)
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(4)
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Such people are colour-blind.

These people are unable to pick out red
as a separate colour.

To most of us, a post box is red.

But there are people who would not
agree that it is red in colour.

abed
dabec
cdab
bade

A fox saw large bunches of grapes in a
vineyard.

He jumped at them again and again but
it was of no use.

He wanted to eat the grapes.

He returned and said, “The grapes are
sour.”

acbd
dbca
bcad
cabd

The shopkeeper told her that if she put
some onion in it she can catch mice.

One day a lady saw a mouse running
across her kitchen floor.

She went to a shop and brought a mouse
trap.

She was much afraid of mice, so she ran
out of her house.

adbe
bdca
achd
cadb

110.

111.

112,

a.
b.

C.

(1)
(2)
(3)
(4)

(1)
(2)
(3)
(4)

(1)
(2)
(3)
(4)
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118.

114,

115.

(1)
(3)

(1)

3)

(1)
(2)
3)
(4)

—= =

(34)

Some passengers jumped off the boat.
The boat had twenty workers.
Two fell into the river.

The boat-man was a good swimmer and
saved them.

dcab (2) dbca

abed bcad

(4)

Ravi found his
morning.

pen missing one

He had to prepare some notes and hence
stole the pen from his father's shirt

pocket,
Ravi's father was searching for his pen.

He felt sorry and gave the pen to his
father.
cbhda (2) abcd

dabe (4) bcad

Untreated hepatitis = causes severe
damage to the liver and the patient may
go into coma and also die.

Inflation of the liver is known as
“hepatitis”.

Recent research has aimed at
developing a vaccine against hepatitis.

The virus is spread by food and water.

bdac
abced
cabd
dabe

118.

114,

115.

(1)
(3)

(1)
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(2)
(3)
(4)
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(3)
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(3)
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Robinson Crusoe was a brave sailor.

With the help of a ship, he returned
home after twenty years.

He was alone for twenty years on the
island.

He was shipwrecked and reached .m
island; the members of his family
thought that he was dead.

adcb (2) abed

cbad (4) dabec

One day Fred was coming home from
his uncle’s house.

Dykes were built to stop the sea-water
entering the towns or villages in
Holland.

There was nobody around its
surroundings and so Fred thrust his
hand through the hole and stayed till
morning.

He knew the danger of the hole in the
dyke.
dabe (2)

(4)

cdab

badc abed

Hiuen Tsang was educated in the
ancient Chinese Confucianism.

He wanted to visit Buddhist centers in
India, particularly Nalanda, where he

got answers for his many questions,
from Buddhist monks.

Chinese pilgrims made the perilous trek
to India to visit holy places.
There were strong cultural links
between China and India.

abced (2) dcab

acbhd (4) cabd

116. a.

117.

118.

b.

(1)
(3)

(1)
(3)

(1)
(3)

(a]
o DSHS 1KY o8 O I,
0¥ TE SFonod a3 dodsysdve
60'36 20438 aon:aaoa-m

6355»6‘ P $0) w3
Do) Sdven KAdDTSP.

wohd JTE SoAdondd  Hdow
odd 28 Bgddnd JShHomd.

283

adchb (2) abed

cbad (4) dabec

28 &2 (B8 &5 ¥ Domowd
2083008 &% 20438
80!’\:;\11‘)15;.3'16).

Sbeadwen GE (oSS
MLCSB&\J & or¥om  udardld

Foo8s* vdhidon SO 8o.

u 5056 |Frosmed” JHEr BH sad
(P8 & g T8 Goiwd® Y
BB HEL wSyOF dImb.
OAELSD Bodn G HErEED
vadd ddolvd.

dabec (2) cdab
bade (4) abed
SrgS o Hosd  Bdawe

éésré,:.’mé‘ g KAoDI .

88 DS TG Slerod
B8gorr srvoc®

&80T ONHINH. JoHEJIT WS
) Tor (DHodH TE dogho
2od zaranen S05D.

;88 THoSD S (B rod
&80b%H IS odr(@%Hw (B8’
038 sPOSSES 53‘)@5.).

3o Dookn rEsdTo D VODD
0k, )88 Jowogren ¢0dd.

abed (2) dcab

acbhd (4) cabd
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119.

120.

(1)
(2)
(3)

(4)

(1)
(2)
(3)

(4)

www.eenadupratibha.net

(36)

Honey-bees communicate by way of
dancing in a peculiar way and it shows
that there is plenty of honey in the
flower garden nearby.

Honey-bees work hard to store honey for
winter.

Bees march in a line to gather honey.
We should learn from honey-bees how to

cooperate with one another and work
hard.

cdba
dabe
dcba

acbd

Early astronomers  were skilled

observers of the night sky.

Once people mistook that the Earth was
the centre of the Universe.

Mostly, however, the Universe consists
of empty space.

They tried to explain what they saw and
put forward their ideas about what the
Universe was like.

dach
adbec
dabc

dcba

119.

120.

(1)

(2)

(3)

(4)

(1)
(2)
(3)

(4)

[Al
838Ky HydginTodudd 2.8 (»dgs
S586°  Sarodind  8O0%HD
Ldoy BK0S*D Hro&feds® oo 83
aHsd  Shrodind & Ao
80o%HE oo,

Rorsrodn $8%H 830 JegPohds
d3dier 5558 SOJokoi.

3% H¥%00%0%H  Edfew
HESIRS® Hokreiosois.

2LE0 SE% D5 %0008 S Sk ook
g508 B0 Dobdiwod Ho
83850 Hod 36303’16:66;.‘».
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dabec
deba
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& D Dighn &), SoEHD Fod
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ugodméw&.
90162655365, G Ddgaw TOrHEL
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dach
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121.

122.

123.

124.

l%.

- (3)

IfA=11,2 8, 4l and B = (2, 4, 5}, then
(A-B)U (B-A)=

(1) 11,3, 5l

(2) 12, 4, 5]

3) 12, 4]

(4) 13, 4, 5)

Find the geometric mean of 5 and 125.

(1) 10
(2) 15
3 20
(4) 25
Find the arithmetic mean of the numbers
7,5,6,8,9 1, 6.
(1) 4
(2) 5
3 6
4 7

In a class of 50 students, 30 take
Mathematics, 25 take Biology and 15 take

both Mathematics and Biology. How many |

students take mneither Mathematica nor
Biology ?

(1) 5

(2) 10

15

4 20

In a class of 40 students, there are
30 students who - play tennis and
20 students who play cricket. Every
student- must play at least one of.the two
games. How many students play both the
games ? '

(1 2

2) . 6

@3 9

4) 10

|121.

124,

122,

123.

125.

www.eenadupratibha.net
(37)

[a]

A = (1, 2, 3, 4 0a» B = {2, 4, 5
vondS, A-B) U (B-A) =

@ {1,3,5

2 12, 4, 5|

3 12,4

(4) 18, 4, 5]

5 o 125 © G wrgdaecd
Soesginss SRy

(1) 10

(2) 15

(3) 20

4) 25

7, 5 6 8 9 1 6
eoéa’mﬁgﬁ)&na‘» TR
(1) 4

(2 5
3) 6
@4 7

(S 6.1»5&.

€

2.8 S868S 50 Hod aavggmé‘, 30 08
K38, 25 Hod LdHTY9dnd Hdak 15
208  HelSdn  Hbay  AdTHHiod
S8V He3SESrrd o
2SR EuDd) SWEH darghen Jossd ?

(1) 6

(2) 10

(3) 15

4) 20

édﬁaé‘z) 40 Pod dovgHod’, 30 Hod
AP vomrdy) ook 20 Hod 888

ubm#og) (58 %cr 9 & Bodo8S® ¥dHdw

¥ vwbY uad. ;)oé Hod :x:i-sdwo &1
So ubod wadsd ? -

1 2
(2) 6
3 9
(4) 10
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126.

127.

128.

129.

www.eenadupratibha.net

The angles of a triangle are in Arithmetic
Progression and the greatest is three times
the least. Then find the greatest angle.

(1) 30°

(2) 60°

(8) 90°

(4) 120°

In a triangle ABC, ZB = 90° and the
lengths of two sides AB and AC are
12 units and 5 units respectively. Find the
length of the hypotenuse (in units).

(1) 11

(2 12

3 13

(4) 14

The ratio of the length to the width of a
rectangular field is 4 : 3. If the width of
the ground is 90 meters, then find its
length (in meters).

(1) 100
(2) 120
(3) 140
(4) 160

If we divide T 968 among three people
such that the first may receive 4 times as
much as the second and the third may
receive 3 times as much as the second,
then how much amount (in rupees), will
the second person receive ?

(1) 115
(2) 118
(3) 120
(4) 121

(38)

126. 2§ (Db D Seren 0¥

HB0HES® Gamon DB DEB VKIS
Lrdoden. B¢ St Jod ?

(1) - 30°

(2) 60°

(3) 90°

(4) 120°

. AABC o3 (@zdwds®, £ZB = 90°, AB

Doy AC ©F PHo ddHen S8
12 ofrdly 0o 5 odrdLy: SEH»
GIo¥), R (oHrAQST) ok ?

(1 11
(2) 12
3 13
(4) 14
; 59; SHEJrsey F Sdw  wEy  TED
Sooy By B 4 : 3 ¢ FEw

Bbey 50 . wowdS, o SwEy FEH
(OES®) o ?

(1 100

(2) 120

(3) 140

(4) 160

. T 968 of I HghoH s a3

Boddarnsod m@oéw 8o
Loedbnarad CodHard¥od Hordoden
GOohdey DoUHBL. wHd Todd X8
dos FIndo (X o) ok ?

(1) 115

(2) 118

(3) 120

(4) 121



AS]401

(39)

*180. A decided to divide T 98,000 between B |130.

and C such that B would receive ¥ 18,000

more than C. How much amount (in

rupees) would B receive ?

(1) 40,000

(2) 58,000

(3) 18,000

(4) 26,000

; 131.

181. If A C B, then A N B =

(1 A '

(2) B

(3) A\B '

(4) B\A 132.
132. If f and g are two real valued functions

defined on the set of all real numbers by

flx) = x - 2, g(x) = xz_+ 3, x is a real

number, then find (gof) (3).

(1 25

(2) 16

(3)

(4)
133. Find the value of k so that 138.

X2~ 3x% 4+ 4x + k is exactly divisible by

x - 2.

(1 4

(2 -4

3) =6

(4 -8 134.
184. The length of a hall exceeds its breadth

by 8 meters and its area is 153 meters>.

Find the breadth of the hall (in meters).

(1 25

(2) 16

(3)

4 7

www.eenadupratibha.net

(2)

(a]

7 98,000 o A ®3ard B 0ok C © gy
Sou&Ood. C o8 B 8 T 18,000 J¥nd
S0, B £ Sk Ingdn (Srrahed®)
dod ?

(1) 40,000

(2) 58,000

(3) 18,000

(4) 26,000

AC BeoowdF ANB-=

(1) A
(20 B
(3) A\B
(4) BM\A
o) RIS Dowge SHLGrAGEL B f O
g Bod T3D¥ Ao o (ddawren.
©d (808 ST VB VoDAID :
fix) =x=2, g(x)=x2+3,6‘xa..§
TIVE ;'Jolps
w03 (gof) (3) D LA™ dw
(1) 25
(2) 16
(3)
(4) 4

-3+ dx + ko3 x-2) 3 oo
N 20D, k Jewdd EHFE

(1 4

2 -4

3 -6

4 -8

¥ Stew dlngzr DAY, Mo:a ¥08 8 b.m:g:
And 45D Ldow o ¥ M
163 ord’. Sew G Idenyd (WHYS')
ER"R0

(1) 25
16
(3)

(4) 7
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135.

136.

137.

138.

139,
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(40)

Find the sum of the first 200 natural
numbers.
(1) 10100
(2) 20100
(3) 30100
(4) 30104

x-1

Jx 3-2 B

lim
x—1

(1)
(2)
(3)
(4)

W w0

Find the middle term of the expansion of

(4)

The first term of a geometric progression
is 50 and the 4'" term is 1350. Determine
the 5 term.

(1)
(2)
(3)
(4)

3050
4050
5050
6050
(xa)h -c % (xb)t: -a X (xl:)n -b =
1 0
@) %

@) 1

(4)- ab + bc + ca

135.

136.

137.

138.

139,

[A]

IS 200 S B

EDR 0
(1) 10100
(2) 20100
(8) 30100
(4) 30104

60q>sr.>

; -1
lim .-—.—E.___=

x—1 ,[x +3-2
(1)
(2)
(3)
(4)

W s >

8
[_+1) &), DS’ esg
y x

DEH0 EH" &
(1
(2)
(3)
(4)

a»gzbéo:b DEODISTD [nnSE  HXB» 50
0oL 4 B DBED 1350. 5 D HEdwd
KSR %H

(1)
(2)
(3)
(4)

3050
4050
5050
6050
(xa}b—c % (xh)c-a X (xc)a-b =
1 o
@) %
@ 1

(4) ab + be + ca
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3 140,

141.

142,

143.

Find the. aqmﬁon of a straight line
passing through (8, 4) and having slope 3.

(1) 8x+y-9=0
(2) 3x-y+9=0
(3) x'-3y-9=0

4) 3x-y-9=0

From a ship mast-head 175 meters high,
the angle of depression of a boat is
observed to be 45°. Find the distance of
the boat from the ship (in meters).

(1) 150

(2) 160
(3) 175

(4) 200

Find the mode of the following data :
7,9,817176,3,172,1,71729,7

(.l) 6
(2) 7
(3) 8
4 9

Find the mode when median is 125 and
mean is 128.

1) 119

2) 121
(3) 132

(4) 1208

. www.eenadugratibha.net

1)

140.

141.

143.

Y

3, 4) Dol S08 FHBrs) HBok e
3 o H5¢ Tp SDEBebns EHMB

1) 3x+y-9=0

(2 3x-y+9=0

3 x-3y-9=0

(4) 3x-y-9=0

0¥ FE Joghw B DSE 175 Y
AHod, 28 45 Jo Eedw 45°. T
D08 DA g Srddn  (weES’)
EEV IRV

(1) 150

(2) 160

(3) 175

(4) 200

& |S08 Segroddn ¥ DV ESVD
D™

7,92817176,37172179,7

(1
(2)
(3)
(4)

L o =~ &

DgHsin 125 Hbaky  Hghosn 128

©odS, aSuFEHD KD

(1)
(2)
(3)
(4)

119
121
132
120-8
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1 4 9 -4 1 4 9 -4
144. If A= and B = , then [144. A = 0w B =

2 5 -2 1 2 b 2

BA =

§E 9
1 0
1) [ ] 8 -3
| @) [_1 0]
1 0
@) [ ] ~& &
(3) (1 16]
1 16
3) ( ] o =3
w [ i 13]
1 16
(4) ( ] pd O
-3

-2 1 i
2 1 145. A = vondS, A+ A =
145. If A=[ . 1), then A +A~ = 3 =1
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AS/401 (43) A
, 146. If3x+.4y;8aﬁdx76y= 10, then 1486. 3x+4y;8::>aoxnx—sy= 10 .evowﬁz?f,
(x, y) = (x, y) =
M 4,1 1 4,1
@ (4,-1) @ -
3) (-4,-1 (@) (-4,-1)
4) (-4,1) 4 (-4,1)

147.

148.

149.

150.

Ifx= sec® + tan 8 and y = sec 6 — tan 0,
then find a relation between x and y by

eliminating 6.

1 xy=1
(2) xy=1
3) xy=-1

@ x+yt=1

(sin 6 + cos 0)2 + (sin 8 — cos 8)2 =

(1 o
2 1
3 2
4) 3

The radius of a circle is 14 cm. The angle
subtended by an arc of the circle at the
centre is 45°. Then find the length of the
arc (in centimeters).

(1 8

(2).10

(3) 11

(4) 14

Solve |2x - 3| < 5.
(1) -8=<sx<x2
(2) -1<x<4
(3) 6<x<8

(4) 5<x<6

. x=gech + tan 0 OOV y = sec @ — tan 0

wondS, 0 D S*Hodmr HYYD x Dok y
o Dgiie H02008550H it

1 *Py=1
2) xy=1
B) xy=-=1

4 L+yi=1

. (sin & + cos 8)2 + (sin 6 — cos 9)2 =

(- 0
@ 1
3 2
4 38°

. 28 H)dhn ¥y Tgdddn 14 0.0, 89
= -3

Gy ¥ Hydoodw Sodn B Jod
Eodn 45° vondS, HPooddn By
EH (RodWOYS®) DR

(1 8 '

(2 10

3) .11

4) 14

- DB Boww (Solve) |2x — 3| < 5.

(1) -8<x<-2
(2) -1<x<4
(3) 6<x<8
(4) 5<x<6



ANDHRA PRADESH PUBLIC SERVICE COMMISSION: HYDERABAD
FINAL ANSWER KEY :: No.of Questions: 150 :: Total Marks: 150
GROUP-IV SERVICES (38/2011) :: Paper-2 SERIES: A
401 - SECRETARIAL ABILITIES

QONo. ANS QONo. ANS QONo. ANS QONo. ANS QNo. ANS QONo. ANS
1 3 2 2 3 1 4 4 5 2 6 4
7 2 8 3 9 2 10. 3 11 2 12 4
13. 1 14. 1 15. 3 16. 4 17. 2 18. 3
19. 2 20. 1 21. 4 22. 1 23. 2 24. 3
25. 2 26. 2 27. 1 28. 3 29. 1 30. 2
31. 3 32. 3 33. 1 34. 4 35. 1 36. 3
37. 1 38. 3 39. 4 40. 3 41. 2 42. 1
43. 4 44. 1 45. 4 46. 2 47. 2 48. 4
49. 2 50. 3 51. 4 52. 9 53. 1 54. 3
55. 1 56. 2 57. 4 58. 3 59. 3 60. 1
61. 1 62. 1 63. 2 64. 1 65. 3 66. 3
67. 2 68. 1 69. 2 70. dorl 71. 2 72. 3
73. 2 74. 1 75. 4 76. 2 77. 4 78. 1
79. 3 80. 1 8l. 2 82. 3 83. 1 84. 4
85. 1 86. 2 87. 4 88. 3 89. 1 90. 2
91. 3 92. 1 93. 2 94. 4 95. 1 96. 3
97. 2 98. 4 99. 2 100. 1 101. 3 102. 4
103. 2 104. 1 105. 3 106. 2 107. 4 108. 1
109. 2 110. 3 111. 1 112. 2 113. 4 114. 2
115. 1 1le6. 1 117. 3 118. 2 119. 4 120. 2
121. 1 122. 4 123. 3 124. 2 125. 4 126. 3
127. 3 128. 2 129. 4 130. 2 131. 1 132. 4
133. 2 134. 3 135. 2 136. 3 137. 1 138. 2
139. 3 140. 9 141. 3 142. 2 143. 1 144. 3
145. 1 l46. 2 147. 2 148. 3 149. 3 150. 2

Q.Nos. 52 & 140 Cancelled.
Q.No. 70 Answer choice is (4orl).
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ANDHRA PRADESH PUBLIC SERVICE COMMISSION: HYDERABAD
FINAL ANSWER KEY :: No.of Questions: 150 :: Total Marks: 150
GROUP-IV SERVICES (38/2011) :: Paper-2 SERIES: B
401 - SECRETARIAL ABILITIES

ONo. ANS ONo. ANS QONo. ANS ONo. ANS QONo. ANS ONo. ANS
1 1 2 4 3 3 4 2 5 4 6 3
7 3 8 2 9 4 10. 2 11 1 12 4
13. 2 14. 3 15. 2 16. 3 17. 1 18. 2
19. 3 20. 9 21. 3 22. 2 23. 1 24. 3
25. 1 26. 2 27. 2 28. 3 29. 3 30. 2
31. 1 32. 1 33. 2 34. 1 35. 3 36. 3
37. 2 38. 1 39. 2 40. 4dorl 41. 2 42. 3
43. 2 44. 1 45. 4 46. 2 47. 4 48. 1
49. 3 50. 1 51. 2 52. 3 53. 1 54. 4
55. 1 56. 2 57. 4 58. 3 59. 1 60. 2
61. 3 62. 3 63. 1 64. 4 65. 1 66. 3
67. 1 68. 3 69. 4 70. 3 71. 2 72. 1
73. 4 74. 1 75. 4 76. 2 77. 2 78. 4
79. 2 80. 3 81. 4 82. 9 83. 1 84. 3
85. 1 86. 2 87. 4 88. 3 89. 3 90. 1
91. 3 92. 2 93. 1 94. 4 95. 2 96. 4
97. 2 98. 3 99. 2 100. 3 101. 2 102. 4
103. 1 104. 1 105. 3 106. 4 107. 2 108. 3
109. 2 110. 1 111. 4 112. 1 113. 2 114. 3
115. 2 lle6. 2 117. 1 118. 3 119. 1 120. 2
121. 3 122. 1 123. 2 124. 4 125. 1 126. 3
127. 2 128. 4 129. 2 130. 1 131. 3 132. 4
133. 2 134. 1 135. 3 136. 2 137. 4 138. 1
139. 2 140. 3 141. 1 142. 2 143. 4 144. 2
145. 1 l46. 1 147. 3 148. 2 149. 4 150. 2

Q.Nos. 20 & 82 Cancelled.
Q.No. 40 Answer choice 1is (4orl).
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ANDHRA PRADESH PUBLIC SERVICE COMMISSION: HYDERABAD
FINAL ANSWER KEY :: No.of Questions: 150 :: Total Marks: 150
GROUP-IV SERVICES (38/2011) :: Paper-2 SERIES: C
401 - SECRETARIAL ABILITIES

ONo. ANS ONo. ANS QONo. ANS ONo. ANS QONo. ANS ONo. ANS
1 3 2 1 3 2 4 4 5 1 6 3
7 2 8 4 9 2 10. 1 11 3 12 4
13. 2 14. 1 15. 3 16. 2 17. 4 8. 1
19. 2 20. 3 21. 1 22. 2 23. 4 24. 2
25. 1 26. 1 27. 3 28. 2 29. 4 30. 2
31. 3 32. 2 33. 1 34. 4 35. 2 36. 4
37. 2 38. 3 39. 2 40. 3 41. 2 42. 4
43. 1 44. 1 45. 3 46. 4 47. 2 48. 3
49. 2 50. 1 51. 4 52. 1 53. 2 54. 3
55. 2 56. 2 57. 1 58. 3 59. 1 60. 2
61. 1 62. 4 63. 3 64. 2 65. 4 66. 3
67. 3 68. 2 69. 4 70. 2 71. 1 72. 4
73. 2 74. 3 75. 2 76. 3 77. 1 78. 2
79. 3 80. 9 81. 3 82. 2 83. 1 84. 3
85. 1 86. 2 87. 2 88. 3 89. 3 90. 2
91. 1 92. 1 93. 2 94. 1 95. 3 96. 3
97. 2 98. 1 99. 2 100. 4orl 101. 2 102. 3
103. 2 104. 1 105. 4 106. 2 107. 4 108. 1
109. 3 110. 1 111. 2 112. 3 113. 1 114. 4
115. 1 lle6. 2 117. 4 118. 3 119. 1 120. 2
121. 3 122. 3 123. 1 124. 4 125. 1 126. 3
127. 1 128. 3 129. 4 130. 3 131. 2 132. 1
133. 4 134. 1 135. 4 136. 2 137. 2 138. 4
139. 2 140. 3 141. 4 142. 9 143. 1 144. 3
145. 1 l46. 2 147. 4 148. 3 149. 3 150. 1

Q.Nos. 80 & 142 Cancelled.
Q.No. 100 Answer choice is (4orl).
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ANDHRA PRADESH PUBLIC SERVICE COMMISSION: HYDERABAD
FINAL ANSWER KEY :: No.of Questions: 150 :: Total Marks: 150
GROUP-IV SERVICES (38/2011) :: Paper-2 SERIES: D
401 - SECRETARIAL ABILITIES

ONo. ANS ONo. ANS QONo. ANS ONo. ANS QONo. ANS ONo. ANS
1 1 2 1 3 2 4 1 5 3 6 3
7 2 8 1 9 2 10 4orl 11 2 12 3
13. 2 14. 1 15. 4 16. 2 17. 4 8. 1
19. 3 20. 1 21. 2 22. 3 23. 1 24. 4
25. 1 26. 2 27. 4 28. 3 29. 1 30. 2
31. 1 32. 4 33. 3 34. 2 35. 4 36. 3
37. 3 38. 2 39. 4 40. 2 41. 1 42. 4
43. 2 44. 3 45. 2 46. 3 47. 1 48. 2
49. 3 50. 9 51. 3 52. 2 53. 1 54. 3
55. 1 56. 2 57. 2 58. 3 59. 3 60. 2
61. 3 62. 1 63. 2 64. 4 65. 1 66. 3
67. 2 68. 4 69. 2 70. 1 71. 3 72. 4
73. 2 74. 1 75. 3 76. 2 77. 4 78. 1
79. 2 80. 3 81. 1 82. 2 83. 4 84. 2
85. 1 86. 1 87. 3 88. 2 89. 4 90. 2
91. 3 92. 3 93. 1 94. 4 95. 1 96. 3
97. 1 98. 3 99. 4 100. 3 101. 2 102. 1
103. 4 104. 1 105. 4 106. 2 107. 2 108. 4
109. 2 110. 3 111. 4 112. 9 113. 1 114. 3
115. 1 lle6. 2 117. 4 118. 3 119. 3 120. 1
121. 3 122. 2 123. 1 124. 4 125. 2 126. 4
127. 2 128. 3 129. 2 130. 3 131. 2 132. 4
133. 1 134. 1 135. 3 136. 4 137. 2 138. 3
139. 2 140. 1 141. 4 142. 1 143. 2 144. 3
145. 2 l46. 2 147. 1 148. 3 149. 1 150. 2

Q.Nos. 50 & 112 Cancelled.
Q.No. 10 Answer choice 1is (4orl).
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